Marijuana Logic Model

Problem Statement: The problem in our community is that too many youth use
marijuana.

Root Cause #1: Favorable norms for use of marijuana

Local Condition #1: limited restrictions of marijuana in public space use

Local Condition #2: Potential advertising that can reinforce the pro-social norm for use

Root Cause #2: Potential illegal marijuana availability

Local Condition #1: placement of marijuana dispensaries is not adequate to deter illegal
distribution

Local Condition #2: current ordinance allows for cash only physician practices?



